el Ape] 5247t xol 7 Ao A2l e] 247} 491 F Ae] A5t
I}, A1) Apel o] 5219k ] Afele] 2 MR 57} g SRt
0 Arkn ), AL 55 Tohs MO §2 L7

DO x+4=44+x-9 @ 4x+9 = 4x
® 10x+4=4x-9 @ 10x+4=404+x-9

® 10x+4=40+x+9
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D 64+x=x+6-18 @ 6x+ 18 = 6x

® 6+ x+18 =6x ® 604+x-18=10x+6

® 60+x+18=10x+6
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D 12x-18 = 21x @ 12x+ 18 = 21x
® x+2x=18 @ 10x+x=20x+ x
® 10x 4+ 20x = 18
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D 20x+x=10x+x—-18
@ 2x+x=10x+2x+18
® 20x+ x = 10x + 2x + 18

@ 10x+x+18=x+10

® 104+x+2x=x+18+2x
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@ 2(4+x)=x+4+4 @ 2(40 + x) = 10x + 4 + 4

® 8x=x+4+4 @ 2(404 x) +4=10x+ 4
® 4x+4=10x+14
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@ 2(7T+x)=x+7-18 @ 14x-18=10x+7
® 4x=x+7-18 @ 70+ x-18 =2(10x+7)
® 2(70 +x) = 10x+7-18
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